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2.1 OU0dOoobobooodoobooboon

(v, X;)OOOOUooOo ¢=1,...,n,000000000000000 w0 X, 0000000
ooobobooo

yi = B'Xi + u; (1)

00000000000 w 000000000y 000000000 X;0000000000
00000000000 00000000000000000000000000000000
0X;0w0000000000000000X,000000« 0000000000000
0000000000000000000000000000

000000000 X, 000000000 10000000 X; = (1,240,...,24) 0000
00000000000000000 8 =(By,B,...,8,)00000

B'X; = B1 + Boxia + -+ + Brwik (2)
gooooodooo1gbogooogogn
g0 0ODo0odooboobooboooobooboobooogn

e /,: J0D0OO0OOODOOO

(B2,...0r): D0 ODODOODODO

y=p'X: 00000

g:0oo00000000m

e y: DUODODOOODOODO

X;;oooooooooooooobooooobobooboboooobooooooooo
googboboooooobobooobogoooboboobooboboooboobobo
ubobooobooooobon

o y: UODOUODOUOODOUODOOODLOODLOOODOOODOObOOODDOOOODbOObOOnDO
oboooooooboobobobuobooy 0oL X;00boboooo
oboboboboobooboobooboyb0b0b0ob0ob0o0oX, 00000000000
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X, O0OooOoOwO0ooooooooooboodooooooooooooooooooooono
0000000000000 0000000000 OLS(ordinary least squares) 000000
DOLSDDDDBDDDDDDDDD

n

S (- HX,)? (3)

i=1

000000 0000000000000
n
_ZXi(yi_b/Xz’):O (4)
=1

00000000000000000000000000000000000000000000
oLsOoOO 00

n *ln
p= (ZXZX’IL> > Xy (5)
=1 =1
odo0o0ooooooooon
0000000000000000O0
e y=/A'X: 0LSOODODODO
e ;=/4'X,;; OLSOO0DO0D00 X=X,000 00000

e u;=y,—y: 1 00000000000O0O0OODOO (v,)DDODDOOODOOOOOOOO

22 OLSOOOOOODOO
gobooboooboboobboobooboooobooooboobooobobooboobooboobooonoobooo
gbobobobob

gbobobobobobobobo

O0000{@MUooooooooooon)

2. X4,u),i=1,...,n0 iid. (0O0O0O0OO0)DDOOOOODOOOOOOOOOOOOOOO
oboobooooobooooooooooog

3. X;04000000000000000000000mO0000 < E((#am—E(zim))?*) <
0000000 E(u})<co0000000000000 X;000000000000
000000000000

4. X =(X4,...,X,) 0 0000000000000 0OO0OODOOUOOOOOOODOOO
OOoo0ooobDoobooo0 Xp+Xe=Xs0OOOooooooooooooo



gbobobobo
e J0O0O0OOLSOOOOOODODODOOOOOOOOODDOOODOOOOOODODDOOD

e OLSOOOIDOODOOODOODOODOOOUODUODOODOODUODOUOOODOOOOD
000ooo0o0ooooD (PwlXy)=0)0000000000000000oo0ooooo
uoot

oLsoooooooo oLsooo BDDDDDDDDDDDDDDDDDDDDDDDDD
goboobooobbooboooboooobooboan
oLsS00gdooooooooooooOoOO0O00000ogooooooooooDooooD
000« 0000000000000 0000000000DODO (nODODODODOOOUODODOD
00000000)0000000000000000OO0OO0O
oLsooood

e 00 (E(3)=p) D0
e 00 (—,6) 00

e NOODO:
V(B =) = N (0, (BOGX)) ™ BuiXiX)) (BXX)) ™). ()
gooo
ao

Proof. 00O: OO G)0y =0'X;+w; 000000

n -1 n
hopt (z xx) S X 0
=1 =1

gboboobooboobobobobiid.bobobobob0obobobUoboboo

n -1 n n -1 n
E <Z XX’) > XX p = (Z XX’) > XiB(uilXi) =0 (8)
=1 =1 =1 =1

000000000000000000000EB) =E{EBX)}=EB) =0000

gob: 000

n -1 n n -1 n
B=p+ (Z XX) > Xiu =B+ (i > XX) % > Xiu 9)
=1 =1 =1 =1

gboooooooooooooo

1 n
=3 XXy B(XX) (10)
=1
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OD000ooooooooooooonoo
1 n
;ZXZUZ —>p E(Xiui):o (11)
=1

DDDDDDDDDBHPBDDDDDDDDDDDDDE(ui]Xi):ODDDDDDDDD
gooboooboobooboobobobooboboboboobobooboobobo
ugbooboobooootd

oo0000: 000(mOOOoooo

n -1 n
. 1 1
nB—-0)=1|-— XZX; — X 12
V(B —B) (nz; > \/ﬁ; (12)
0000000000000D0000000
1 - 2 /
7 Z;Xu —a N (0, B(u?X;X})) (13)

OO000O0O0DO0OOO0StskyODOOODO

ViB=8) = (EXiX))™' N (0, Bu}X,X})) (14)
_ N<0, (B(X,X}) " Bu2X,X)) (E(Xng))_l). (15)
O

ooooooo orLstoooooboboooooooboboooboooDo

n -1 n n -1
A 1 1~ 1
V= (n ;1: Xx’> - .. ¢ (n ;1 XX’) : (16)

=1

0D0000000000000000000 (V =, (BEX:X)™! BE2X; X)) (BEX:X)™)
000000000000

gooboooo god E(u?|XZ~):JQDDDDDDDDDDDDDDDDDDDDDDDDDD
gobooboobbooboobobooboonboo

V(B = 8) —a N (0,0% (BX.X]) ) (17)

000000000000000 $2=)7,47/n0000

n —1
1
2 /
— g X; X 18
’ (n =1 l) ( )

gboobogobooobobobooboooooboboboooobobobobooobobOobo
goboboboboboboboboboboboboboboboboboboo
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O00o000000o0o0o0o0o000 «»0000000000 6,00000000 Hy: Bm=Bmo
gbo:tgbooobooobooon

1. OLSO OO0 3,000000

2. B, 00000000000V, 00VO (m,m)00000083,00000 SE(By)0

SE(Bm) = (19)

goog

.t0b00bobooon

~

¢ — Bm = Bmo (20)

SE(Bm)

4. pO0029(—|¢t))DO000O0DO0OO0OOOOOOOOOOOODOO %O 000000t > 1.96
Ubob0H,O0ODO0oOOoo

tgbobobooboboooboboobooo

3 _ A0 5 _ _ R0

SE(Bm)  SE(Bm)  SE(Bm)

gobooboooboooobboobobooooboooboooboboooboboooboboobboo
gboboobooboobooboooboobooossoooooobo-20 200000000000
00000000000O00oo0o0bO0OUU0UooOOoUooOOooDOUO(19Y)LOOUnD
goooooooo SE(Bm)D ogbooboobooobooboobobobooboboobooo
0000000000000 00000000 090 |tl<1l9000000000O0O0OODODO
0O [¢00000000000ooooooooood

0000 00000 Hy:pBm=0Bno00000000 Hi:Bn<BrodO0000O0000O0
oboboboboboboboobo

o pO: O(t).
e I0OOUOMIDt<-1645000000000000OO
00000o0ooo B,09%%0000000

e 100UDDDDOOODONOIODODDDOUIOODUDDOOUDDDOOOOODDOUOOODOO

e 5%000003, 0000000000000 ODDOODDOODODOOO



9%5% 0000000000

Bm - Bm
P(|Em—Emy - 1.96) = 0.95 22
(I SE(G,0) | ) (22)
0o0O000000000000000
(B —1.96 X SE(Bm),  Bm +1.96 x SE(3,,)) (23)

good

000000000 y0OO0000DODOOOODOO 2,0 Az,, OOOODOOOOOyOODO
ooooooog,Az, 00000
oooogAz, OOOOOODODOOOOOOOO

(Bm Az — 1.96 X SE(Bm)|AZm|,  BmAzm + 1.96 X SE(Bm)|Azm|) (24)

gooboooboognd

24 0O0O0O0OO0OOO
gbobooooboobobooboooooboboboboobooboobobooboboDbo
ooobobobobooboo

WaldOOOO FOOO OOOO0OOORB-r=000000000RO¢xk0000000O
00000000r0¢x100000000 (¢< k)0
0oooB8=(B,...,5) 000000000 Hy: B =8,04=0000000000000

000 RO rO0
1 -1 0 0 0
r= <0 0 1 0)’ " (0) (25)

gooo
WaldODOOODO

~ ~ -1 ~
wu:mRﬂ—w%ﬁvH) (RB —1) (26)

DDDDHODDDDDW—)ngDDDD
FOOOOOF=W/qOOOO

e UODDDOOUODODOO WaldOODODO FOOOODOOODODOOOODOOODOD
oboobobooobooboooobooboooobooWadODOD FOOOOOODOOOO

e qIODOO0O0DOOOODOOOODOOOODOOOODOOOOOB =p=6000000
bobooboobbdibge=20000



e JOOOOLDOOODOODOOUDLDOODOODLOOOLDODOODDLDOOODOODOODDOO
oo 0O¢ebodbobooboboolesoonoboonooooboooaooooooon
gobooboobboobobooboobboundLooobooboonon

O0000# 0, 0000000000000000005% 0000000000 10 t
gboobobobobo

Pr(|t1] < 1.96, |to| < 1.96) = Pr(|t1| < 1.96) x Pr(|ts] < 1.96) = 0.95% = 0.9025  (27)

O000Pr(00O |Hp) =1-0.9025=0.09750000000000000000000O0
ugboogboood

e 00000000000000 FOOOOOOOO
Hy:B2=0,...,5 =0. (28)

DO000OR= [0 _1yx1: Ir—1]0 7 =041, 0000000000000000 FOO
0000000000000000000000000000000

0000000000000 00000000000 9%%O00000009%%000000
gobodgboooobood

e I00UNMIDDOOUODOODDDOOUOOULODOOUOOD FOUOODDOOUOOUOODOOO
oooooood

e NUUOOOOODOODLOOODDOODLOODO

e JOUODOUDODODODODODODODODODODOD

2.5 R?

0000 R?000y000000000X, 000000000000
00000000 % 0000000: v =g + a0

e j;=pA'X;; »2,0000000000000000000

e d;=y—9:y00000000000000000

2 _ o= 9)? ) LA
R__Ziﬁw—@Q_l S (i — 5)2 (29)

0<R’2<10000R?20000000000000000

RZ0000000000000NDO0NODNY, 0000000000000 00000OoOoon
O00R000000DO0O0OOOOOOOOO0OY;0000000000000000O0O00O0
ooooo



0000 R? 00000000000 RPOODODOOOOOOOOOOOOOD0O0O0ODODO00O0
00000000000000000000000R?000000000000000000O0
00000000MO0O0000000000000000 R20000

n—1 Z?ﬂ@?
n—k—130,(Y; -Y)%

R?=1- (30)

Jodoooooon Z?:lzl%DDDDDI/(n—k—l)DDDDDDD
e R? < R2.

e REOOODDDODDOOO

oooobgo
e RPOODODONONONOODODDODODDDOOOOONOOOOOOODODOD

e R°0 RPODDDDOOODOOODDDDODOOOONONONONONONOODDODODODOODODOOOOO
googoo

e RPOODOONOOONOOOODODODDOD (0DDDODDOOD)0D0DD0OO0DDOODOO

e RPODIONONONONONODODODODDDODODODOONONONONONONOODODDDOD

26 0J000OoOooooo
e 10000: 00000000 X;00000000000000(E(u?X;)=0?)

e JIDOUOO:uUIODOO0ODDOO X;000ODOODOOODOO

000000000000 0D0O000000 Farnings0O0OOOODOMALEODOOODO 10O
gboboobogo20b0bOobO

FEarnings; = 81 + foMALE; + u;. (31)

obobooboooboobooobooobobooobouooboobooobooaoo

gbobooboogbod
e NOODODOO

e OLSOOODDOOODDOODDOOODOOODODOODOODOOODOODODODOO “The Gauss-
Markov theorem” [

e OLSOODOODOOODOOODODOOODODDOOD (18O O)HO

0000000000000 0000000000O0000O0OO(eDOO00DUOOOODUoUDOO
gbobooobooboobooobooboobooboboooboboobooboobobobobooobobo
gbobobooboobobboboobooobooboboobobooboobooobooobooooo
0000000000000 000@8)oOoOO0OO0O0000000000000O0Ooon
goboogood
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goboooboboobobooobbuoooboobobooobbooobboobDboooDboo
gobboobboobboobboobbuooobooobooobbooobbooboboo
gobobooobooobobbooobboobbooobbooobooobbooobboo
uobogboobbooboooboboobooabobo

gboooboooboobobooobooboboobobobooboobobooobooon
gobogboobboooooobod

TestScore = 1 + 2STR + u (32)

OO000TestScoreDOOODOOOODOOOSTROOOODOOODOOOODOOOODODOOOO
Ubdwgoboobboobboobboobbooobboobooobbooobboooboo
gobodboobbodb«.ooboobbooboobbooboobbon

e 0DODODO;
e 000O0DO0DODODOOODOO;
e 00DODODOO

gobooboooboboobbooboobuooobooobboobobooobbooboboonboboo
gooobgo

uboooodbooobooboboobooboboobobboobooboboobobon
gboboobooobooboboooooobobobooooboboboboooboboDbo
goobooboooobooobobooobooobobooobooooboboooobooboooobooboo
gobooboooobood

gooboobo ooboobbooboobboobboobood
1. J0boooboobooobooboobbooboobbooboo
2.0000000000O0O0O00DO0O0b00O0n

oobooooooooooLsoooooooooooooobooooboooboooboOooD
gooooboobooboobobooboobbooboobooboobooboobobo
gobboooboboobboobbuooobooobooobboobbooobboobboo
goo

goboobogoooboooooboooobooboobooboobooboygooboooD X, 2
obobozZzoboooooooboobooooooo

Y =XB+ Zy+u, Eu|X,Z)=0 (33)



Ooo00oXxXoooooooooo poOooooooO

A~

B = (X'X)'X'Y = (X'X)' X' (XB+ Zy +u)
= B+ (X'X)'X'Zy+ (X' X) ' X'u
0000X0O ZO000OO0OOO0OOO0O00000000000000000

gobooobooobooobboobboobobooobooobboob wOOooo
gboboobooboboobooobooboon

E(ui|X;) #0 (34)

0000w 0 X;00000000000000LSOO0O0O000000000ooaoa
00000000000 000000 w0 X;000000000000000O00O0OLSOO
040000
- o
Bl —p Bl‘i‘pXuiu (35)
ox
00000000 pxy =corr(X;,u;) D000
e OO OOOOOOOOOOOOOOOOOOOO

e |px,|000000O0O0O0O0OOOOODO

e 00 px,000000000000000000

uboobooboooooboooboboboooboboobooooobobooboooobon
gbobgobooooooboboooobobobobooobobobobooobobobo
gobooboooboooobboobbuoobobuoooboooboobooobooboooboboobooboo
gobodboooobooboooboobooo

ooooooboobob0o XOoooobooogow,,W,,...,w, 0000000000
0000000000000 0O000DO0O0C0D0OD000X,Wy,Ws,.... W, 0DOOOOO OLS
gobodobooobobooboooon

E(u]X,Wl,...Wk) =0 (36)

oooopooow,Wwe,... W, oboooooobooooooobobooboboooXxoo
oboboboobobow,...,w,0bobooogoobooogoo
obooboooooooooooowy,..,w,0000ooogoooooooogoogoog
XOOooooooow,,...,w,0boooooboobooooooboobobooboobo0 XOo
goboobooobboooboooboboobooboboobbooboobobon

EX,Wi...,Wg) =y +nWi+ - +7%Wk. (37)

gbobooooobobobooooob0 Xoboooobobooooooooboooooooo
00000000 XOOoOobOooooooOoooboboooXxXuoooo gyOoooo xoooQ
1000000 y00000 px0O0O0oO0oooooo

E(y‘X: 17W177Wk) _E(y‘XZOaWthk) :5X (38)

o0oOoO00oO0o0ooOoOobOo0ooDboOobopy0O00oDbObOOobbOO0ODOOD
ooboooooooobooboobooobooobooootled Wy, W, Ooooooo
oooow,..., W, 0o yoooooooooooogoooooogoo
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000oo000ooO0o0oooogooooooooDoD ppooooOoOooooOooooDO jppoo0o0od

goooboboobob boboobooUtlbOoO0obOobObObObOobDbOObObObOo
goboooboogd

goboboboooobobboooooobbooooooboobbooooobbbooooon
goo

O000p 0000000000000 OO000000ODOOO0D0OU0ODOOoDOOoODOOD
gbobogboobbooboobbooo

D, 0ob0oboobooboobooboobooboboboooboooooo

yi = Po + f1Di + u;. (39)
000 E(w|D:)=000000
o E(yi|Di=0)=fy= fo00D; =0000 3, 0000000
o E(yilDi=1)=fo+ /1 = o+ /1 00D;=1000 0000000
e /L 00DOODOOODDOOODO

g0oLsoooooo0odoooooooooo0oooooooooooooooo

goooooo ooooooooo
yi = Bo+ b1 Xi+ B X7+ + B X] +ui (40)
ogoooooooooo-00000000b000b0b00b00 Xoooooooooao
e r=20000000O0000O0
e r=30000000O000O00O0O0

000000000000 00000Hy:p2=0,...,=000000000 FOOODOOO

gobooobogod
gboobgbooooboboooboobobooboboobooboboooboobon

gbobodgboobbooobooobbooobuooboobobooboon

y = Bo+BiX +BX?+u, (41)
y+Ay = Bo+ Bi(X +AX)+ Bo(X +AX)? +u. (42)

goood
Ay = BIAX + 28, XAX + Bo(AX)?, (43)

ogoood
Ay _ B1+ 282X + o AX. (44)

AX
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Ay = BIAX + 26, XAX + Bo(AX)? (45)

0D000000000000000000000X00000000000 AXOOOOOOO
oooooQ

0000000000000000000000000000X0 1000110000000
yO0Oooooo

—

Ay = (Bo+ B x 114 B x 112) — (B + B1 x 10 + B x 10%) (46)
= b1 +21p (47)

0000000000Ay000000 SE(B+215,)0000000

0
SE(Ay) = l(0 1 21)V |1 (48)
" 21

gobooooboogn

e J00O0DDDODAODONX?00000000X0y00000000000000O0OO
goodg

oo0bodbOo0 yOOOO XOOOOODOOoooOoooObooooooooobooooao
0000000000000 oooooooooooooooo LD oooOooooooooo
O000000000000000000

O:

e OOOMO

e JJUJDODDDODIOODDOOODUOD 1% OD0O0O0O0O0ODOUODOODO

e J0O0DDOOD1%OO0000OODODOOO%OODOODOOOODOOODO“COO”00O0O0O
Az/x0000000000COOOOOOOOOOOOOOOO

In(x + Az) —In(x) = g, (49)

x

O000n(x)00.010000000000020 1%00000000000000
e JIUODODODO: y; = Po+ f1In(X;) + u;.
- X01%00000y0 0.015 0000000
e J0UODOODO: In(y;) = Bo + £1X; + ;.
- X01000O0O0OOyO 1005, %0000000
e 100ODOODO: In(y;) = Bo + B1 In(X;) + ;.
- X01%00000y0O py%00000000 4 0y0 XOOOO “000”0000
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goboobogoobooob oOooobooboboboooobobobOobooboOoboooboboOoDbo
goobobobobobobobobobobuoboboboo

yi = Bo + B1X1i + B2Xoi + B3(X1i x Xoi) + u;. (50)

000 Xy x X, OO X, O oo x; oo yooobbob o
U XoO0Ooooobooboo

A
T;{l - Bl + B3X2. (51)

00 (00X, 0 XoOOOODOOOOOODOOOO0OOOOOooooboooooooboooo
Oo000000oooooO0o000ooDoOoo0o0oooDXx; 0 AX,0000000X,0 AXy
gooooobooon

Ay = (B1 + B3 X2)AX1 + (B2 + B3X1)AXs + B3AX1AXo. (52)
O00o0ooooooooooooooooooooooooooooooooooonon
Yi = Bo + B1Xi + B2Di + B3(Xi x D;) + ;. (53)
e X, OOQOGQOoOnooao
e D, 00OOODO
XO0OOoODOhyOoooooo

{51 00 D=0, (54)

Bi+B; 0O D=1.

e JDOOUODLODOOUUDODOUDOUDODODUODOUODOUODODODyYyO XODOOD
ooooooog

dododooooooooooooooooboooooooooon
yi = Bo + B1D1i + B2Dai + B3(D1i X Daj) + ;. (55)

gbobobobo

E(yi|D1; = 0,D9 =0) = [y (56)
E(yi|D1i =1,D2 =0) = o+ (57)
E(yi|D1i = 0,D9; = 1) = fo+ Po (58)
E(yi|D1i =1,D9; =1) = o+ 1+ B2+ B3 (59)

oooooooooooooooLsgooooooo b0 D, 0000000DODO0ODOOD
oo0ooOOo0oboo0oOooboooOoOoDbDoO00oDbbOOoUbobOO psoboboooOoDbboOoobobooo
gobodbooooboobooobooboo
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